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1) What mass of PbSO4 would be produced by 100 g of Pb(NO3)2?

Pb(NO3)2 + H2SO4 à PbSO4 + 2HNO3

2) What mass of KCl would be produced from 20 g K2CO3? 

K2CO3 + 2HCl à 2KCl + CO2 + H2O

3) What mass of NaCl would be produced from 0.71g of chlorine gas? 

3Cl2 + 6NaOH à 5NaCl  +      NaClO3 +     3H2O

4) What mass of NaOH would produce 15 g of NaCl?

6NaOH +       3Cl2 à NaClO3 +      5NaCl    + 3H2O 



Moles of 
Pb(NO3)2

Mass

Molar Mass

= 100 0.302 moles

1 mole of
Pb(NO3)2

1) What mass of PbSO4 would be produced by 100 g of Pb(NO3)2?

Pb(NO3)2 + H2SO4 à PbSO4 + 2HNO3

= 331.2
= 

Moles of 
PbSO4

= Pb(NO3)2 + H2SO4 à PbSO4 + 2HNO3

1 mole of
PbSO4

0.302 moles 0.302 moles

Mass of PbSO4 = Moles x Molar Mass 0.302 x 303.2 = 91.6 grams = 



Moles of 
K2CO3

Mass

Molar Mass

= 20 0.145 moles

1 mole of
K2CO3

= 138
= 

Moles of KCl = 

2 moles of
KCl

0.145 moles 0.290 moles

Mass of KCl = Moles x Molar Mass 0.290 x 74.5 = 21.6 grams = 

2) What mass of KCl would be produced from 20 g K2CO3? 

K2CO3 + 2HCl à 2KCl + CO2 + H2O

K2CO3 +    2HCl à 2KCl + CO2 + H2O

x 2



Moles of Cl2

Mass

Molar Mass
= 7.1 0.1 moles

3 moles of
Cl2

= 
71

= 

Moles of 
NaCl

= 

5 moles of
NaCl

0.1 moles 0.16 moles

Mass of NaCl = Moles x Molar Mass 0.16 x 58.5 = 9.75 grams = 

x    5
3

3) What mass of NaCl would be produced from 7.1g of chlorine gas? 

3Cl2(g)  + 6NaOH(aq) à 5NaCl(aq)     +      NaClO3(aq)    +     3H2O(l) 

3Cl2(g)          + 6NaOH(aq) à 5NaCl(aq)     +      NaClO3(aq)    +     3H2O(l) 



Moles of NaCl

Mass

Molar Mass
= 15 0.256 moles

6 moles of
NaOH

= 
58.5

= 

Moles of 
NaOH

= 

5 moles of
NaCl

0.307 moles 0.256 moles

Mass of NaOH = Moles x Molar Mass 0.307 x 40 = 12.28 grams = 

4) What mass of NaOH would produce 15 g of NaCl?

6NaOH +       3Cl2 à NaClO3 +      5NaCl    + 3H2O 

6NaOH +       3Cl2 à NaClO3 +      5NaCl              + 3H2O 

0.256

5
x  6
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